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QUESTION 1

What is an archive package?

A. A backup set for archived files.

B. A package that contains all the expired archives.

C. Files that are archived from the same server become members of the same archive package.

D. Files that are archived with the same description become members of the same archive package.

Correct Answer: C

QUESTION 2

An Oracle database is protected with IBM Tivoli Storage Manager (TSM) for Database and Oracle Recovery Manager.
The Service Level Agreement defines that the logs must be written twice and immediately during the log archiving
process. The storage pool destination is a sequential file pool and the data cannot be mirrored. How can this
requirement be fulfilled?

A. Use the Simultaneous Write function during migration.

B. Use the Mirror option in the TSM API option file tdpo.opt.

C. Use the Simultaneous Write function from the client during backup.

D. Take the backup of the logs twice to different storage pool destinations.

Correct Answer: B

QUESTION 3

The IBM Tivoli Storage Manager (TSM) Backup-Archive client has been installed on a Windows system having a
working network connection with hostname WIN2K8-SRV1 and IP address 172.18.35.47. The TSM server is running
and is located at IP address 172.18.35.100. No firewalls are in place and all other server and client communications
parameters are left to their default values. When opening the TSM Backup-Archive client command line the result is:
Which two steps are taken to avoid this error and successfully connect to the TSM server?

C9060-511 VCE Dumps | C9060-511 Study Guide | C9060-511 Braindumps 2/4


https://www.leads4pass.com/c9060-511.html
https://www.leads4pass.com/c9060-511.html
https://www.leads4pass.com/c9060-511.html

https://lwww.leads4pass.com/c9060-511.html
2024 Latest leads4pass C9060-511 PDF and VCE dumps Download

C:\Program Files\Tivol\T SM\baclient>dsmc
IBM Tivoli Storage Manager
Command Line Backup-Archive Client Interface
Client Version 7, Release 1, Level 0.0
Client date/time: 04/23/2014 10:07:57
(c) Copyright by IBM Corporation and other(s) 1990, 2013. All Rights Reserved.

Node Name: WIN2K8-SRV1
ANS1017E Session rejected: TCP/IP connection failure.

A. Run the dsmc command again, but add the -TCPSERVERADDRESS=172.18.35.100 option.
B. Use the Backup-Archive client GUI\\'s Preferences editor to update the server port value: and try connecting again.

C. Update the node\\'s dsm.opt file to include the option TCPSERVERADDRESS 172.18.35.100, and try connecting
again.

D. Update the node\\'s dsm.sys file to contain the option TCPSERVERADDRESS 172.18.35.100; and try connecting
again.

E. Use the Backup-Archive client GUI\\'s Preferences editor to confirm the options file contains a valid node name, and
try connecting again.

Correct Answer: B

QUESTION 4

Which two pieces of information should be provided to a customer prior to an IBM Tivoli Storage Manager V7.1
implementation?

A. A list of supported firewall products across the network infrastructure.

B. IBM hardware/software prerequisites for all components to be installed.

C. A mutually agreed-upon high-level architecture/system connectivity diagram.

D. Disaster recovery manager media states for all removable media to be used.

E. A list of issues resolved in the version of each software component to be installed.

Correct Answer: AC

QUESTION 5
Which device information is represented by the alias name mt5?
A. A tape drive on LUN 5

B. A tape drive on SCSI ID 5
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C. A tape library with 5 drives
D. The fifth tape in an automated library

Correct Answer: B
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